

# Differential superordinations u using Ruscheweyh derivative and generalized Sălăgean operator

Andrei Loriană

Department of Mathematics and Computer Science  
University of Oradea  
str. Universitatii nr. 1, 410087 Oradea, Romania  
e-mail: lori\_andrei@yahoo.com

## Abstract

*In the present paper we establish several differential superordinations regarding the operator  $RD_{\lambda,\alpha}^m$  defined by using Ruscheweyh derivative  $R^m f(z)$  and the generalized Sălăgean operator  $D_\lambda^m f(z)$ ,  $RD_{\lambda,\alpha}^m : \mathcal{A}_n \rightarrow \mathcal{A}_n$ ,  $RD_{\lambda,\alpha}^m f(z) = (1 - \alpha)R^m f(z) + \alpha D_\lambda^m f(z)$ ,  $z \in U$ , where  $m, n \in \mathbb{N}$ ,  $\lambda, \alpha \geq 0$  and  $f \in \mathcal{A}_n$ ,  $\mathcal{A}_n = \{f \in \mathcal{H}(U) : f(z) = z + \sum_{j=n+1}^{\infty} a_j z^j, z \in U\}$ . A number of interesting consequences of some of these superordination results are discussed. Relevant connections of some of the new results obtained in this paper with those in earlier works are also provided.*

**Keywords:** *differential superordination, convex function, best subordinant, differential operator.*

**2000 Mathematical Subject Classification:** 30C45, 30A20, 34A40.

## 1 Introduction

Denote by  $U$  the unit disc of the complex plane,  $U = \{z \in \mathbb{C} : |z| < 1\}$  and  $\mathcal{H}(U)$  the space of holomorphic functions in  $U$ .

Let  $\mathcal{A}_n = \{f \in \mathcal{H}(U) : f(z) = z + a_{n+1}z^{n+1} + \dots, z \in U\}$  and  $\mathcal{H}[a, n] = \{f \in \mathcal{H}(U) : f(z) = a + a_n z^n + a_{n+1}z^{n+1} + \dots, z \in U\}$  for  $a \in \mathbb{C}$  and  $n \in \mathbb{N}$ .

Denote by  $K = \left\{ f \in \mathcal{A}_n : \operatorname{Re} \frac{zf''(z)}{f'(z)} + 1 > 0, z \in U \right\}$ , the class of normalized convex functions in  $U$ .

If  $f$  and  $g$  are analytic functions in  $U$ , we say that  $f$  is superordinate to  $g$ , written  $g \prec f$ , if there is a function  $w$  analytic in  $U$ , with  $w(0) = 0$ ,  $|w(z)| < 1$ , for all  $z \in U$  such that  $g(z) = f(w(z))$  for all  $z \in U$ . If  $f$  is univalent, then  $g \prec f$  if and only if  $f(0) = g(0)$  and  $g(U) \subseteq f(U)$ .

Let  $\psi : \mathbb{C}^2 \times U \rightarrow \mathbb{C}$  and  $h$  analytic in  $U$ . If  $p$  and  $\psi(p(z), zp'(z); z)$  are univalent in  $U$  and satisfies the (first-order) differential superordination

$$h(z) \prec \psi(p(z), zp'(z); z), \quad z \in U, \quad (1)$$

then  $p$  is called a solution of the differential superordination. The analytic function  $q$  is called a subordinant of the solutions of the differential superordination, or more simply a subordinant, if  $q \prec p$  for all  $p$  satisfying (1).

An univalent subordinant  $\tilde{q}$  that satisfies  $q \prec \tilde{q}$  for all subordinants  $q$  of (1) is said to be the best subordinant of (1). The best subordinant is unique up to a rotation of  $U$ .

**Definition 1.1.** (Al Oboudi [9]) For  $f \in \mathcal{A}_n$ ,  $\lambda \geq 0$  and  $n, m \in \mathbb{N}$ , the operator  $D_\lambda^m$  is defined by  $D_\lambda^m : \mathcal{A}_n \rightarrow \mathcal{A}_n$ ,

$$\begin{aligned} D_\lambda^0 f(z) &= f(z) \\ D_\lambda^1 f(z) &= (1 - \lambda) f(z) + \lambda z f'(z) = D_\lambda f(z) \quad , \dots, \\ D_\lambda^{m+1} f(z) &= (1 - \lambda) D_\lambda^m f(z) + \lambda z (D_\lambda^m f(z))' = D_\lambda (D_\lambda^m f(z)), \quad z \in U. \end{aligned}$$

**Remark 1.2.** If  $f \in \mathcal{A}_n$  and  $f(z) = z + \sum_{j=n+1}^{\infty} a_j z^j$ , then  $D_\lambda^m f(z) = z + \sum_{j=n+1}^{\infty} [1 + (j-1)\lambda]^m a_j z^j$ ,  $z \in U$ .

For  $\lambda = 1$  in the above definition we obtain the Sălăgean differential operator [15].

**Definition 1.3.** (Ruscheweyh [14]) For  $f \in \mathcal{A}_n$ ,  $n, m \in \mathbb{N}$ , the operator  $R^m$  is defined by  $R^m : \mathcal{A}_n \rightarrow \mathcal{A}_n$ ,

$$\begin{aligned} R^0 f(z) &= f(z) \\ R^1 f(z) &= z f'(z) \quad , \dots, \\ (m+1) R^{m+1} f(z) &= z (R^m f(z))' + m R^m f(z), \quad z \in U. \end{aligned}$$

**Remark 1.4.** If  $f \in \mathcal{A}_n$ ,  $f(z) = z + \sum_{j=n+1}^{\infty} a_j z^j$ , then  $R^m f(z) = z + \sum_{j=n+1}^{\infty} C_{m+j-1}^m a_j z^j$ ,  $z \in U$ .

**Definition 1.5.** [3] Let  $\alpha, \lambda \geq 0$ ,  $n, m \in \mathbb{N}$ . Denote by  $RD_{\lambda, \alpha}^m$  the operator given by  $RD_{\lambda, \alpha}^m : \mathcal{A}_n \rightarrow \mathcal{A}_n$ ,

$$RD_{\lambda, \alpha}^m f(z) = (1 - \alpha) R^m f(z) + \alpha D_\lambda^m f(z), \quad z \in U.$$

**Remark 1.6.** If  $f \in \mathcal{A}_n$ ,  $f(z) = z + \sum_{j=n+1}^{\infty} a_j z^j$ , then  
 $RD_{\lambda,\alpha}^m f(z) = z + \sum_{j=n+1}^{\infty} \{\alpha [1 + (j-1)\lambda]^m + (1-\alpha) C_{m+j-1}^m\} a_j z^j$ ,  $z \in U$ .  
 This operator was studied also in [6], [7], [4], [10], [11], [12].

**Remark 1.7.** For  $\alpha = 0$ ,  $RD_{\lambda,0}^m f(z) = R^m f(z)$ , where  $z \in U$  and for  $\alpha = 1$ ,  $RD_{\lambda,1}^m f(z) = D_{\lambda}^m f(z)$ , where  $z \in U$ .

For  $\lambda = 1$ , we obtain  $RD_{1,\alpha}^m f(z) = L_{\alpha}^m f(z)$  which was studied in [1], [2], [5].

For  $m = 0$ ,  $RD_{\lambda,\alpha}^0 f(z) = (1-\alpha) R^0 f(z) + \alpha D_{\lambda}^0 f(z) = f(z) = R^0 f(z) = D_{\lambda}^0 f(z)$ , where  $z \in U$ .

**Definition 1.8.** We denote by  $Q$  the set of functions that are analytic and injective on  $\bar{U} \setminus E(f)$ , where  $E(f) = \{\zeta \in \partial U : \lim_{z \rightarrow \zeta} f(z) = \infty\}$ , and are such that  $f'(\zeta) \neq 0$  for  $\zeta \in \partial U \setminus E(f)$ . The subclass of  $Q$  for which  $f(0) = a$  is denoted by  $Q(a)$ .

We will use the following lemmas.

**Lemma 1.9.** (Miller and Mocanu [13, Th. 3.1.6, p. 71]) Let  $h$  be a convex function with  $h(0) = a$  and let  $\gamma \in \mathbb{C} \setminus \{0\}$  be a complex number with  $Re \gamma \geq 0$ . If  $p \in \mathcal{H}[a, n] \cap Q$ ,  $p(z) + \frac{1}{\gamma} z p'(z)$  is univalent in  $U$  and  $h(z) \prec p(z) + \frac{1}{\gamma} z p'(z)$ ,  $z \in U$ , then  $q(z) \prec p(z)$ ,  $z \in U$ , where  $q(z) = \frac{\gamma}{nz^{\gamma/n}} \int_0^z h(t) t^{\gamma/n-1} dt$ ,  $z \in U$ . The function  $q$  is convex and is the best subordinant.

**Lemma 1.10.** (Miller and Mocanu [13]) Let  $q$  be a convex function in  $U$  and let  $h(z) = q(z) + \frac{1}{\gamma} z q'(z)$ ,  $z \in U$ , where  $Re \gamma \geq 0$ . If  $p \in \mathcal{H}[a, n] \cap Q$ ,  $p(z) + \frac{1}{\gamma} z p'(z)$  is univalent in  $U$  and  $q(z) + \frac{1}{\gamma} z q'(z) \prec p(z) + \frac{1}{\gamma} z p'(z)$ ,  $z \in U$ , then  $q(z) \prec p(z)$ ,  $z \in U$ , where  $q(z) = \frac{\gamma}{nz^{\gamma/n}} \int_0^z h(t) t^{\gamma/n-1} dt$ ,  $z \in U$ . The function  $q$  is the best subordinant.

## 2 Main results

**Theorem 2.1.** Let  $h$  be a convex function,  $h(0) = 1$ . Let  $n, m \in \mathbb{N}$ ,  $\lambda, \alpha, \delta \geq 0$ ,  $f \in \mathcal{A}_n$  and suppose that  $\left(\frac{RD_{\lambda,\alpha}^m f(z)}{z}\right)^{\delta-1} (RD_{\lambda,\alpha}^m f(z))'$  is univalent and  $\left(\frac{RD_{\lambda,\alpha}^m f(z)}{z}\right)^{\delta} \in \mathcal{H}[1, n\delta] \cap Q$ . If

$$h(z) \prec \left(\frac{RD_{\lambda,\alpha}^m f(z)}{z}\right)^{\delta-1} (RD_{\lambda,\alpha}^m f(z))', \quad z \in U, \quad (2)$$

then

$$q(z) \prec \left(\frac{RD_{\lambda,\alpha}^m f(z)}{z}\right)^{\delta}, \quad z \in U,$$

where  $q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t)t^{\frac{\delta}{n}-1}dt$ . The function  $q$  is convex and it is the best subordinant.

**Proof** Consider

$$p(z) = \left( \frac{RD_{\lambda,\alpha}^m f(z)}{z} \right)^\delta = \left( \frac{z + \sum_{j=n+1}^{\infty} \{ \alpha[1+(j-1)\lambda]^n + (1-\alpha)C_{n+j-1}^n \} a_j z^j}{z} \right)^\delta = 1 + p_{n\delta} z^{n\delta} + p_{n\delta+1} z^{n\delta+1} + \dots, \quad z \in U.$$

Differentiating we obtain  $\left( \frac{RD_{\lambda,\alpha}^m f(z)}{z} \right)^{\delta-1} (RD_{\lambda,\alpha}^m f(z))' = p(z) + \frac{1}{\delta} z p'(z)$ ,  $z \in U$ .

Then (2) becomes  $h(z) \prec p(z) + \frac{1}{\delta} z p'(z)$ ,  $z \in U$ . By using Lemma 1.9 for  $\gamma = \delta$ , we have  $q(z) \prec p(z)$ ,  $z \in U$ , i.e.  $q(z) \prec \left( \frac{RD_{\lambda,\alpha}^m f(z)}{z} \right)^\delta$ ,  $z \in U$ , where  $q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t)t^{\frac{\delta}{n}-1}dt$ . The function  $q$  is convex and it is the best subordinant.

**Corollary 2.2.** Let  $h(z) = \frac{1+(2\beta-1)z}{1+z}$  be a convex function in  $U$ , where  $0 \leq \beta < 1$ . Let  $n, m \in \mathbb{N}$ ,  $\lambda, \alpha, \delta \geq 0$ ,  $f \in \mathcal{A}_n$  and suppose that  $\left( \frac{RD_{\lambda,\alpha}^m f(z)}{z} \right)^{\delta-1} (RD_{\lambda,\alpha}^m f(z))'$  is univalent and  $\left( \frac{RD_{\lambda,\alpha}^m f(z)}{z} \right)^\delta \in \mathcal{H}[1, n\delta] \cap Q$ . If

$$h(z) \prec \left( \frac{RD_{\lambda,\alpha}^m f(z)}{z} \right)^{\delta-1} (RD_{\lambda,\alpha}^m f(z))', \quad z \in U, \quad (3)$$

then  $q(z) \prec \left( \frac{RD_{\lambda,\alpha}^m f(z)}{z} \right)^\delta$ ,  $z \in U$ , where  $q$  is given by  $q(z) = 2\beta - 1 + \frac{2(1-\beta)\delta}{nz^{\frac{\delta}{n}}} \int_0^z \frac{t^{\frac{\delta}{n}-1}}{1+t} dt$ ,  $z \in U$ . The function  $q$  is convex and it is the best subordinant.

**Proof** Following the same steps as in the proof of Theorem 2.1 and considering  $p(z) = \left( \frac{RD_{\lambda,\alpha}^m f(z)}{z} \right)^\delta$ , the differential superordination (3) becomes  $h(z) = \frac{1+(2\beta-1)z}{1+z} \prec p(z) + \frac{z}{\delta} p'(z)$ ,  $z \in U$ .

By using Lemma 1.9 for  $\gamma = \delta$ , we have  $q(z) \prec p(z)$ , i.e.,

$$\begin{aligned} q(z) &= \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t)t^{\frac{\delta}{n}-1}dt = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z t^{\frac{\delta}{n}-1} \frac{1+(2\beta-1)t}{1+t} dt = \\ &= \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z \left[ (2\beta-1)t^{\frac{\delta}{n}-1} + 2(1-\beta) \frac{t^{\frac{\delta}{n}-1}}{1+t} \right] dt = (2\beta-1) + \frac{2(1-\beta)\delta}{nz^{\frac{\delta}{n}}} \int_0^z \frac{t^{\frac{\delta}{n}-1}}{1+t} dt \\ &\prec \left( \frac{RD_{\lambda,\alpha}^m f(z)}{z} \right)^\delta, \quad z \in U. \end{aligned}$$

The function  $q$  is convex and it is the best subordinant.

**Theorem 2.3.** *Let  $q$  be convex in  $U$  and let  $h$  be defined by  $h(z) = q(z) + \frac{z}{\delta}q'(z)$ . If  $n, m \in \mathbb{N}$ ,  $\lambda, \alpha, \delta \geq 0$ ,  $f \in \mathcal{A}_n$ , suppose that  $\left(\frac{RD_{\lambda,\alpha}^m f(z)}{z}\right)^{\delta-1} (RD_{\lambda,\alpha}^m f(z))'$  is univalent and  $\left(\frac{RD_{\lambda,\alpha}^m f(z)}{z}\right)^\delta \in \mathcal{H}[1, n\delta] \cap Q$  and satisfies the differential superordination*

$$h(z) = q(z) + \frac{z}{\delta}q'(z) \prec \left(\frac{RD_{\lambda,\alpha}^m f(z)}{z}\right)^{\delta-1} (RD_{\lambda,\alpha}^m f(z))', \quad z \in U, \quad (4)$$

then

$$q(z) \prec \left(\frac{RD_{\lambda,\alpha}^m f(z)}{z}\right)^\delta, \quad z \in U,$$

where  $q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t)t^{\frac{\delta}{n}-1} dt$ . The function  $q$  is the best subordinate.

**Proof** Following the same steps as in the proof of Theorem 2.1 and considering  $p(z) = \left(\frac{RD_{\lambda,\alpha}^m f(z)}{z}\right)^\delta$ , the differential superordination (4) becomes  $q(z) + \frac{z}{\delta}q'(z) \prec p(z) + \frac{z}{\delta}p'(z)$ ,  $z \in U$ .

Using Lemma 1.10 for  $\gamma = \delta$ , we have  $q(z) \prec p(z)$ ,  $z \in U$ , i.e.  $q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t)t^{\frac{\delta}{n}-1} dt \prec \left(\frac{RD_{\lambda,\alpha}^m f(z)}{z}\right)^\delta$ ,  $z \in U$ , and  $q$  is the best subordinate.

**Remark 2.4.** *For  $n = 1$ ,  $\lambda = \frac{1}{2}$ ,  $\alpha = 2$ ,  $\delta = 1$  we obtain the same example as in [8, Example 4.3.2, p. 136].*

**Theorem 2.5.** *Let  $h$  be a convex function,  $h(0) = 1$ . Let  $\lambda, \alpha, \delta \geq 0$ ,  $n, m \in \mathbb{N}$ ,  $f \in \mathcal{A}_n$  and suppose that*

$$z^{\frac{\delta+1}{\delta}} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} + \frac{z^2}{\delta} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} - 2 \frac{(RD_{\lambda,\alpha}^{m+1} f(z))'}{RD_{\lambda,\alpha}^{m+1} f(z)} \right] \text{ is univalent and } z \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} \in \mathcal{H}[0, n] \cap Q. \text{ If}$$

$$h(z) \prec z \frac{\delta+1}{\delta} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} + \frac{z^2}{\delta} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} - 2 \frac{(RD_{\lambda,\alpha}^{m+1} f(z))'}{RD_{\lambda,\alpha}^{m+1} f(z)} \right], \quad z \in U, \quad (5)$$

then

$$q(z) \prec z \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2}, \quad z \in U,$$

where  $q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t)t^{\frac{\delta}{n}-1} dt$ . The function  $q$  is convex and it is the best subordinate.

**Proof** Consider  $p(z) = z \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2}$  and we obtain  $p(z) + \frac{z}{\delta} p'(z) = z \frac{\delta+1}{\delta} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} + \frac{z^2}{\delta} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} - 2 \frac{(RD_{\lambda,\alpha}^{m+1} f(z))'}{RD_{\lambda,\alpha}^{m+1} f(z)} \right]$ . Relation (5) becomes  $h(z) \prec p(z) + \frac{z}{\delta} p'(z)$ ,  $z \in U$ .

By using Lemma 1.10 for  $\gamma = \delta$ , we have  $q(z) \prec p(z)$ ,  $z \in U$ , i.e.  $q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t) t^{\frac{\delta}{n}-1} t dt \prec z \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2}$ ,  $z \in U$ . The function  $q$  is convex and it is the best subordinant.

**Theorem 2.6.** *Let  $q$  be convex in  $U$  and let  $h$  be defined by  $h(z) = q(z) + \frac{z}{\delta} q'(z)$ . If  $n, m \in \mathbb{N}$ ,  $\lambda, \alpha, \delta \geq 0$ ,  $f \in \mathcal{A}_n$ , suppose that  $z \frac{\delta+1}{\delta} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} + \frac{z^2}{\delta} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} - 2 \frac{(RD_{\lambda,\alpha}^{m+1} f(z))'}{RD_{\lambda,\alpha}^{m+1} f(z)} \right]$  is univalent and  $z \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} \in \mathcal{H}[0, n] \cap Q$  and satisfies the differential superordination*

$$h(z) \prec z \frac{\delta+1}{\delta} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} + \frac{z^2}{\delta} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} - 2 \frac{(RD_{\lambda,\alpha}^{m+1} f(z))'}{RD_{\lambda,\alpha}^{m+1} f(z)} \right], \quad z \in U, \quad (6)$$

then

$$q(z) \prec z \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2}, \quad z \in U,$$

where  $q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t) t^{\frac{\delta}{n}-1} t dt$ . The function  $q$  is the best subordinant.

**Proof** Let  $p(z) = z \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2}$ ,  $z \in U$ . Differentiating, we obtain  $p(z) + \frac{z}{\delta} p'(z) = z \frac{\delta+1}{\delta} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} + \frac{z^2}{\delta} \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} - 2 \frac{(RD_{\lambda,\alpha}^{m+1} f(z))'}{RD_{\lambda,\alpha}^{m+1} f(z)} \right]$ ,  $z \in U$ , and (6) becomes  $h(z) = q(z) + \frac{z}{\delta} q'(z) \prec p(z) + \frac{z}{\delta} p'(z)$ ,  $z \in U$ .

By using Lemma 1.10 for  $\gamma = \delta$ , we have  $q(z) \prec p(z)$ ,  $z \in U$ , i.e.  $q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t) t^{\frac{\delta}{n}-1} t dt \prec z \frac{RD_{\lambda,\alpha}^m f(z)}{(RD_{\lambda,\alpha}^{m+1} f(z))^2}$ ,  $z \in U$ , and  $q$  is the best subordinant.

**Theorem 2.7.** *Let  $h$  be a convex function in  $U$  with  $h(0) = 1$  and let  $\lambda, \alpha, \delta \geq 0$ ,  $n, m \in \mathbb{N}$ ,  $f \in \mathcal{A}_n$ ,*

$$z^2 \frac{\delta+2}{\delta} \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} + \frac{z^3}{\delta} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))''}{RD_{\lambda,\alpha}^m f(z)} - \left( \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} \right)^2 \right] \text{ is univalent and}$$

noindent  $z^2 \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} \in \mathcal{H}[0, n] \cap Q$ . If

$$h(z) \prec z^2 \frac{\delta + 2 (RD_{\lambda,\alpha}^m f(z))'}{\delta RD_{\lambda,\alpha}^m f(z)} + \frac{z^3}{\delta} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))''}{RD_{\lambda,\alpha}^m f(z)} - \left( \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} \right)^2 \right], \quad z \in U, \quad (7)$$

then

$$q(z) \prec z^2 \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}, \quad z \in U,$$

where  $q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t) t^{\frac{\delta}{n}-1} dt$ . The function  $q$  is convex and it is the best subordinated.

**Proof** Let  $p(z) = z^2 \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}$ ,  $z \in U$ .

Differentiating, we obtain  $z^2 \frac{\delta+2}{\delta} \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} + \frac{z^3}{\delta} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))''}{RD_{\lambda,\alpha}^m f(z)} - \left( \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} \right)^2 \right] = p(z) + \frac{z}{\delta} p'(z)$ ,  $z \in U$ . Using the notation in (7), the differential subordination becomes  $h(z) \prec p(z) + \frac{z}{\delta} p'(z)$ ,  $z \in U$ .

By using Lemma 1.9 for  $\gamma = \delta$ , we have  $q(z) \prec p(z)$ ,  $z \in U$ , i.e.  $q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t) t^{\frac{\delta}{n}-1} dt \prec z^2 \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}$ ,  $z \in U$ . The function  $q$  is convex and it is the best subordinated.

**Theorem 2.8.** Let  $q$  be a convex function in  $U$  and  $h(z) = q(z) + \frac{z}{\delta} q'(z)$ . Let  $\lambda, \alpha, \delta \geq 0$ ,  $n, m \in \mathbb{N}$ ,  $f \in \mathcal{A}_n$ , suppose that

$z^2 \frac{\delta+2}{\delta} \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} + \frac{z^3}{\delta} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))''}{RD_{\lambda,\alpha}^m f(z)} - \left( \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} \right)^2 \right]$  is univalent in  $U$  and  $z^2 \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} \in \mathcal{H}[0, n] \cap Q$  and satisfies the differential subordination

$$h(z) \prec z^2 \frac{\delta + 2 (RD_{\lambda,\alpha}^m f(z))'}{\delta RD_{\lambda,\alpha}^m f(z)} + \frac{z^3}{\delta} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))''}{RD_{\lambda,\alpha}^m f(z)} - \left( \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} \right)^2 \right], \quad z \in U, \quad (8)$$

then

$$q(z) \prec z^2 \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}, \quad z \in U,$$

where  $q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t)t^{\frac{\delta}{n}-1} dt$ . The function  $q$  is the best subordinator.

**Proof** Let  $p(z) = z^2 \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}$ . Differentiating, we obtain  $p(z) + \frac{z}{\delta} p'(z) = z^{2\frac{\delta+2}{\delta}} \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} + \frac{z^3}{\delta} \left[ \frac{(RD_{\lambda,\alpha}^m f(z))''}{RD_{\lambda,\alpha}^m f(z)} - \left( \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)} \right)^2 \right]$ ,  $z \in U$ . Using the notation in (8), the differential superordination becomes  $h(z) = q(z) + \frac{z}{\delta} q'(z) \prec p(z) + \frac{z}{\delta} p'(z)$ .

By using Lemma 1.10 for  $\gamma = \delta$  we have  $q(z) \prec p(z)$ , i.e.,

$q(z) = \frac{\delta}{nz^{\frac{\delta}{n}}} \int_0^z h(t)t^{\frac{\delta}{n}-1} dt \prec z^2 \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}$ ,  $z \in U$ . The function  $q$  is the best subordinator.

**Theorem 2.9.** Let  $h$  be a convex function,  $h(0) = 1$ . Let  $n, m \in \mathbb{N}$ ,  $\lambda, \alpha, \delta \geq 0$ ,  $f \in \mathcal{A}_n$  and suppose that  $1 - \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))''}{[(RD_{\lambda,\alpha}^m f(z))']^2}$  is univalent and  $\frac{RD_{\lambda,\alpha}^m f(z)}{z(RD_{\lambda,\alpha}^m f(z))'}$   $\in \mathcal{H}[1, n] \cap Q$ . If

$$h(z) \prec 1 - \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))''}{[(RD_{\lambda,\alpha}^m f(z))']^2}, \quad z \in U, \quad (9)$$

then

$$q(z) \prec \frac{RD_{\lambda,\alpha}^m f(z)}{z(RD_{\lambda,\alpha}^m f(z))'}, \quad z \in U,$$

where  $q$  is given by  $q(z) = \frac{1}{nz^{\frac{1}{n}}} \int_0^z h(t)t^{\frac{1}{n}-1} dt$ ,  $z \in U$ . The function  $q$  is convex and it is the best subordinator.

**Proof** Let  $p(z) = \frac{RD_{\lambda,\alpha}^m f(z)}{z(RD_{\lambda,\alpha}^m f(z))'}$ ,  $z \in U$ . Differentiating, we obtain  $1 - \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))''}{[(RD_{\lambda,\alpha}^m f(z))']^2} = p(z) + zp'(z)$ ,  $z \in U$ , and (9) becomes  $h(z) \prec p(z) + zp'(z)$ ,  $z \in U$ .

Using Lemma 1.9 for  $\gamma = 1$  we have  $q(z) \prec p(z)$ ,  $z \in U$ , i.e.  $q(z) = \frac{1}{nz^{\frac{1}{n}}} \int_0^z h(t)t^{\frac{1}{n}-1} dt \prec \frac{RD_{\lambda,\alpha}^m f(z)}{z(RD_{\lambda,\alpha}^m f(z))'}$ ,  $z \in U$ . The function  $q$  is convex and it is the best subordinator.

**Corollary 2.10.** Let  $h(z) = \frac{1+(2\beta-1)z}{1+z}$  be a convex function in  $U$ , where  $0 \leq \beta < 1$ . Let  $n, m \in \mathbb{N}$ ,  $\lambda, \alpha, \delta \geq 0$ ,  $f \in \mathcal{A}_n$  and suppose that  $1 - \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))''}{[(RD_{\lambda,\alpha}^m f(z))']^2}$  is univalent and  $\frac{RD_{\lambda,\alpha}^m f(z)}{z(RD_{\lambda,\alpha}^m f(z))'}$   $\in \mathcal{H}[1, n] \cap Q$ . If

$$h(z) \prec 1 - \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))''}{[(RD_{\lambda,\alpha}^m f(z))']^2}, \quad z \in U, \quad (10)$$



then

$$q(z) \prec \frac{RD_{\lambda,\alpha}^m f(z)}{z (RD_{\lambda,\alpha}^m f(z))'}, \quad z \in U,$$

where  $q$  is given by  $q(z) = (2\beta - 1) + \frac{2(1-\beta)}{nz^{\frac{1}{n}}} \int_0^z \frac{t^{\frac{1}{n}-1}}{1+t} dt$ ,  $z \in U$ . The function  $q$  is convex and it is the best subordinant .

**Proof** Following the same steps as in the proof of Theorem 2.9 and considering  $p(z) = \frac{RD_{\lambda,\alpha}^m f(z)}{z (RD_{\lambda,\alpha}^m f(z))'}$ , the differential subordination (10) becomes  $h(z) = \frac{1+(2\beta-1)z}{1+z} \prec p(z) + zp'(z)$ ,  $z \in U$ .

By using Lemma 1.9 for  $\gamma = 1$ , we have  $q(z) \prec p(z)$ , i.e.

$$\begin{aligned} q(z) &= \frac{1}{nz^{\frac{1}{n}}} \int_0^z h(t)t^{\frac{1}{n}-1} dt = \frac{1}{nz^{\frac{1}{n}}} \int_0^z \frac{1+(2\beta-1)t}{1+t} t^{\frac{1}{n}-1} dt = \\ &= \frac{1}{nz^{\frac{1}{n}}} \int_0^z t^{\frac{1}{n}-1} \left[ (2\beta - 1) + \frac{2(1-\beta)}{1+t} \right] dt = (2\beta - 1) + \frac{2(1-\beta)}{nz^{\frac{1}{n}}} \int_0^z \frac{t^{\frac{1}{n}-1}}{1+t} dt \prec \frac{RD_{\lambda,\alpha}^m f(z)}{z (RD_{\lambda,\alpha}^m f(z))'}, \\ &z \in U. \end{aligned}$$

**Theorem 2.11.** Let  $q$  be convex in  $U$  and let  $h$  be defined by  $h(z) = q(z) + zq'(z)$ . If  $n, m \in \mathbb{N}$ ,  $\lambda, \alpha, \delta \geq 0$ ,  $f \in \mathcal{A}_n$ , suppose that  $1 - \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))''}{[(RD_{\lambda,\alpha}^m f(z))']^2}$  is univalent and  $\frac{RD_{\lambda,\alpha}^m f(z)}{z (RD_{\lambda,\alpha}^m f(z))'} \in \mathcal{H}[1, n] \cap Q$  and satisfies the differential superordination

$$h(z) \prec 1 - \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))''}{[(RD_{\lambda,\alpha}^m f(z))']^2}, \quad z \in U, \quad (11)$$

then

$$q(z) \prec \frac{RD_{\lambda,\alpha}^m f(z)}{z (RD_{\lambda,\alpha}^m f(z))'}, \quad z \in U,$$

where  $q$  is given by  $q(z) = \frac{1}{nz^{\frac{1}{n}}} \int_0^z h(t)t^{\frac{1}{n}-1} dt$ ,  $z \in U$ . The function  $q$  is the best subordinant.

**Proof** Let  $p(z) = \frac{RD_{\lambda,\alpha}^m f(z)}{z (RD_{\lambda,\alpha}^m f(z))'}$ . Differentiating, we obtain

$$1 - \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))''}{[(RD_{\lambda,\alpha}^m f(z))']^2} = p(z) + zp'(z), \quad z \in U, \text{ and (11) becomes } h(z) = q(z) + zq'(z) \prec p(z) + zp'(z), \quad z \in U.$$

Using Lemma 1.9 for  $\gamma = 1$ , we have  $q(z) \prec p(z)$ ,  $z \in U$ , i.e.  $q(z) = \frac{1}{nz^{\frac{1}{n}}} \int_0^z h(t)t^{\frac{1}{n}-1} dt \prec \frac{RD_{\lambda,\alpha}^m f(z)}{z (RD_{\lambda,\alpha}^m f(z))'}$ ,  $z \in U$ . The function  $q$  is the best subordinant.

**Example 2.12.** Let  $h(z) = \frac{1-z}{1+z}$  a convex function in  $U$  with  $h(0) = 1$ . Let  $f(z) = z+z^2$ ,  $z \in U$ . For  $n = 1$ ,  $m = 1$ ,  $\lambda = \frac{1}{2}$ ,  $\alpha = 2$ , we obtain  $RD_{\frac{1}{2},2}^1 f(z) = -R^1 f(z) + 2D_{\frac{1}{2}}^1 f(z) = -zf'(z) + 2\left(\frac{1}{2}f(z) + \frac{1}{2}zf'(z)\right) = f(z) = z+z^2$ ,  $z \in U$ .

Then  $\left(RD_{\frac{1}{2},2}^1 f(z)\right)' = f'(z) = 1 + 2z$ ,  $\frac{RD_{\frac{1}{2},2}^1 f(z)}{z\left(RD_{\frac{1}{2},2}^1 f(z)\right)'} = \frac{z+z^2}{z(1+2z)} = \frac{1+z}{1+2z}$ ,  $1 -$

$\frac{RD_{\frac{1}{2},2}^1 f(z) \cdot \left(RD_{\frac{1}{2},2}^1 f(z)\right)''}{\left[\left(RD_{\frac{1}{2},2}^1 f(z)\right)'\right]^2} = 1 - \frac{(z+z^2) \cdot 2}{(1+2z)^2} = \frac{2z^2+2z+1}{(1+2z)^2}$ . We have  $q(z) = \frac{1}{z} \int_0^z \frac{1-t}{1+t} dt = -1 + \frac{2 \ln(1+z)}{z}$ .

Using Theorem 2.9 we obtain

$$\frac{1-z}{1+z} \prec \frac{2z^2+2z+1}{(1+2z)^2}, \quad z \in U,$$

induce

$$-1 + \frac{2 \ln(1+z)}{z} \prec \frac{1+z}{1+2z}, \quad z \in U.$$

**Theorem 2.13.** Let  $h$  be a convex function,  $h(0) = 1$  and let  $\lambda, \alpha \geq 0$ ,  $n, m \in \mathbb{N}$ ,  $f \in \mathcal{A}_n$ , suppose that  $\left[(RD_{\lambda,\alpha}^m f(z))'\right]^2 + RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))''$  is univalent and  $\frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))'}{z} \in \mathcal{H}[0, n] \cap \mathcal{Q}$ . If

$$h(z) \prec \left[(RD_{\lambda,\alpha}^m f(z))'\right]^2 + RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))'', \quad z \in U, \quad (12)$$

then

$$q(z) \prec \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))'}{z}, \quad z \in U,$$

where  $q(z) = \frac{1}{nz^{\frac{n}{n}}} \int_0^z h(t)t^{\frac{1}{n}-1} dt$ . The function  $q$  is convex and it is the best subdominant.

**Proof** Let  $p(z) = \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))'}{z}$ ,  $z \in U$ . Differentiating, we obtain  $\left[(RD_{\lambda,\alpha}^m f(z))'\right]^2 + RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))'' = p(z) + zp'(z)$ ,  $z \in U$ , and (12) becomes  $h(z) \prec p(z) + zp'(z)$ ,  $z \in U$ .

Using Lemma 1.9 for  $\gamma = 1$ , we have  $q(z) \prec p(z)$ ,  $z \in U$ , i.e.  $q(z) = \frac{1}{nz^{\frac{n}{n}}} \int_0^z h(t)t^{\frac{1}{n}-1} dt \prec \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))'}{z}$ ,  $z \in U$ . The function  $q$  is convex and it is the best subdominant.

**Corollary 2.14.** Let  $h(z) = \frac{1+(2\beta-1)z}{1+z}$  be a convex function in  $U$ , where  $0 \leq \beta < 1$ . Let  $\lambda, \alpha \geq 0$ ,  $n, m \in \mathbb{N}$ ,  $f \in \mathcal{A}_n$ , suppose that  $\left[ (RD_{\lambda, \alpha}^m f(z))' \right]^2 + RD_{\lambda, \alpha}^m f(z) \cdot (RD_{\lambda, \alpha}^m f(z))''$  is univalent and  $\frac{RD_{\lambda, \alpha}^m f(z) \cdot (RD_{\lambda, \alpha}^m f(z))'}{z} \in \mathcal{H}[0, n] \cap Q$ . If

$$h(z) \prec \left[ (RD_{\lambda, \alpha}^m f(z))' \right]^2 + RD_{\lambda, \alpha}^m f(z) \cdot (RD_{\lambda, \alpha}^m f(z))'', \quad z \in U, \quad (13)$$

then

$$q(z) \prec \frac{RD_{\lambda, \alpha}^m f(z) \cdot (RD_{\lambda, \alpha}^m f(z))'}{z}, \quad z \in U,$$

where  $q$  is given by  $q(z) = (2\beta - 1) + \frac{2(1-\beta)}{nz^{\frac{1}{n}}} \int_0^z \frac{t^{\frac{1}{n}-1}}{1+t} dt$ ,  $z \in U$ . The function  $q$  is convex and it is the best subordinant.

**Proof** Following the same steps as in the proof of Theorem 2.13 and considering  $p(z) = \frac{RD_{\lambda, \alpha}^m f(z) \cdot (RD_{\lambda, \alpha}^m f(z))'}{z}$ , the differential superordination (13) becomes  $h(z) = \frac{1+(2\beta-1)z}{1+z} \prec p(z) + zp'(z)$ ,  $z \in U$ .

By using Lemma 1.9 for  $\gamma = 1$ , we have  $q(z) \prec p(z)$ , i.e.,

$$\begin{aligned} q(z) &= \frac{1}{nz^{\frac{1}{n}}} \int_0^z h(t)t^{\frac{1}{n}-1} dt = \frac{1}{nz^{\frac{1}{n}}} \int_0^z \frac{1+(2\beta-1)t}{1+t} t^{\frac{1}{n}-1} dt = \\ &= \frac{1}{nz^{\frac{1}{n}}} \int_0^z t^{\frac{1}{n}-1} \left[ (2\beta - 1) + \frac{2(1-\beta)}{1+t} \right] dt = (2\beta - 1) + \frac{2(1-\beta)}{nz^{\frac{1}{n}}} \int_0^z \frac{t^{\frac{1}{n}-1}}{1+t} dt \\ &\prec \frac{RD_{\lambda, \alpha}^m f(z) \cdot (RD_{\lambda, \alpha}^m f(z))'}{z}, \quad z \in U. \end{aligned}$$

The function  $q$  is convex and it is the best subordinant.

**Theorem 2.15.** Let  $q$  be a convex function in  $U$  and  $h$  be defined by  $h(z) = q(z) + zq'(z)$ . Let  $\lambda, \alpha \geq 0$ ,  $n, m \in \mathbb{N}$ ,  $f \in \mathcal{A}_n$ , suppose that  $\left[ (RD_{\lambda, \alpha}^m f(z))' \right]^2 + RD_{\lambda, \alpha}^m f(z) \cdot (RD_{\lambda, \alpha}^m f(z))''$  is univalent and  $\frac{RD_{\lambda, \alpha}^m f(z) \cdot (RD_{\lambda, \alpha}^m f(z))'}{z} \in \mathcal{H}[0, n] \cap Q$  and satisfies the differential superordination

$$h(z) = q(z) + zq'(z) \prec \left[ (RD_{\lambda, \alpha}^m f(z))' \right]^2 + RD_{\lambda, \alpha}^m f(z) \cdot (RD_{\lambda, \alpha}^m f(z))'', \quad z \in U, \quad (14)$$

then

$$q(z) \prec \frac{RD_{\lambda, \alpha}^m f(z) \cdot (RD_{\lambda, \alpha}^m f(z))'}{z}, \quad z \in U,$$

where  $q(z) = \frac{1}{nz^{\frac{1}{n}}} \int_0^z h(t)t^{\frac{1}{n}-1} dt$ . The function  $q$  is the best subordinant.

**Proof** Following the same steps as in the proof of Theorem 2.13 and considering  $p(z) = \frac{RD_{\lambda, \alpha}^m f(z) \cdot (RD_{\lambda, \alpha}^m f(z))'}{z}$ , the differential superordination (14) becomes  $h(z) = q(z) + zq'(z) \prec p(z) + zp'(z)$ ,  $z \in U$ .

By using Lemma 1.10 for  $\gamma = 1$ , we have  $q(z) \prec p(z)$ , i.e.,  $q(z) = \frac{1}{nz^{\frac{1}{n}}} \int_0^z h(t)t^{\frac{1}{n}-1} dt \prec \frac{RD_{\lambda,\alpha}^m f(z) \cdot (RD_{\lambda,\alpha}^m f(z))'}{z}$ ,  $z \in U$ . The

**Example 2.16.** Let  $h(z) = \frac{1-z}{1+z}$  a convex function in  $U$  with  $h(0) = 1$ . Let  $f(z) = z+z^2$ ,  $z \in U$ . For  $n = 1$ ,  $m = 1$ ,  $\lambda = \frac{1}{2}$ ,  $\alpha = 2$ , we obtain  $RD_{\frac{1}{2},2}^1 f(z) = -R^1 f(z) + 2D_{\frac{1}{2}}^1 f(z) = -zf'(z) + 2\left(\frac{1}{2}f(z) + \frac{1}{2}zf'(z)\right) = f(z) = z+z^2$ ,  $z \in U$ .

Then  $\left(RD_{\frac{1}{2},2}^1 f(z)\right)' = f'(z) = 1+2z$ ,  $\frac{RD_{\frac{1}{2},2}^1 f(z) \cdot (RD_{\frac{1}{2},2}^1 f(z))'}{z} = \frac{(z+z^2)(1+2z)}{z} = 2z^2 + 3z + 1$ ,  $\left[\left(RD_{\frac{1}{2},2}^1 f(z)\right)'\right]^2 + RD_{\frac{1}{2},2}^1 f(z) \cdot \left(RD_{\frac{1}{2},2}^1 f(z)\right)'' = (1+2z)^2 + (z+z^2) \cdot 2 = 6z^2 + 6z + 1$ . We have  $q(z) = \frac{1}{z} \int_0^z \frac{1-t}{1+t} dt = -1 + \frac{2\ln(1+z)}{z}$ .

Using Theorem 2.13 we obtain

$$\frac{1-z}{1+z} \prec 6z^2 + 6z + 1, \quad z \in U,$$

induce

$$-1 + \frac{2\ln(1+z)}{z} \prec 2z^2 + 3z + 1, \quad z \in U.$$

**Theorem 2.17.** Let  $h$  be a convex function,  $h(0) = 1$ . Let  $\lambda, \alpha \geq 0$ ,  $\delta \in (0, 1)$ ,  $n, m \in \mathbb{N}$ ,  $f \in \mathcal{A}_n$ , and suppose that

$\left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta \frac{RD_{\lambda,\alpha}^{m+1} f(z)}{1-\delta} \left(\frac{(RD_{\lambda,\alpha}^{m+1} f(z))'}{RD_{\lambda,\alpha}^{m+1} f(z)} - \delta \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}\right)$  is univalent and  $\frac{RD_{\lambda,\alpha}^{m+1} f(z)}{z} \cdot \left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta \in \mathcal{H}[0, n(1-\delta)] \cap Q$ . If

$$h(z) \prec \left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta \frac{RD_{\lambda,\alpha}^{m+1} f(z)}{1-\delta} \left(\frac{(RD_{\lambda,\alpha}^{m+1} f(z))'}{RD_{\lambda,\alpha}^{m+1} f(z)} - \delta \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}\right), \quad (15)$$

$z \in U$ , then

$$q(z) \prec \frac{RD_{\lambda,\alpha}^{m+1} f(z)}{z} \cdot \left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta, \quad z \in U,$$

where  $q(z) = \frac{1-\delta}{nz^{\frac{1-\delta}{n}}} \int_0^z h(t)t^{\frac{1-\delta}{n}-1} dt$ . The function  $q$  is convex and it is the best subordinated.

**Proof** Let  $p(z) = \frac{RD_{\lambda,\alpha}^{m+1} f(z)}{z} \cdot \left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta$ ,  $z \in U$ . Differentiating, we obtain

$\left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta \frac{RD_{\lambda,\alpha}^{m+1} f(z)}{1-\delta} \left(\frac{(RD_{\lambda,\alpha}^{m+1} f(z))'}{RD_{\lambda,\alpha}^{m+1} f(z)} - \delta \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}\right) = p(z) + \frac{1}{1-\delta} zp'(z)$ ,  $z \in U$ , and (15) becomes  $h(z) \prec p(z) + \frac{1}{1-\delta} zp'(z)$ ,  $z \in U$ .

Using Lemma 1.9, we have  $q(z) \prec p(z)$ ,  $z \in U$ , i.e.  
 $q(z) = \frac{1-\delta}{nz^{\frac{1-\delta}{n}}} \int_0^z h(t)t^{\frac{1-\delta}{n}-1} dt \prec \frac{RD_{\lambda,\alpha}^{m+1}f(z)}{z} \cdot \left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta$ ,  $z \in U$ . The function  $q$  is convex and it is the best subordinant.

**Theorem 2.18.** *Let  $q$  be a convex function in  $U$  and  $h(z) = q(z) + \frac{z}{1-\delta}q'(z)$ . If  $\lambda, \alpha \geq 0$ ,  $\delta \in (0, 1)$ ,  $n, m \in \mathbb{N}$ ,  $f \in \mathcal{A}_n$ , suppose that  $\left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta \frac{RD_{\lambda,\alpha}^{m+1}f(z)}{1-\delta} \left(\frac{(RD_{\lambda,\alpha}^{m+1}f(z))'}{RD_{\lambda,\alpha}^{m+1}f(z)} - \delta \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}\right)$  is univalent and  $\frac{RD_{\lambda,\alpha}^{m+1}f(z)}{z} \cdot \left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta \in \mathcal{H}[0, n(1-\delta)] \cap Q$  satisfies the differential superordination*

$$h(z) \prec \left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta \frac{RD_{\lambda,\alpha}^{m+1}f(z)}{1-\delta} \left(\frac{(RD_{\lambda,\alpha}^{m+1}f(z))'}{RD_{\lambda,\alpha}^{m+1}f(z)} - \delta \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}\right), \tag{16}$$

$z \in U$ , then

$$q(z) \prec \frac{RD_{\lambda,\alpha}^{m+1}f(z)}{z} \cdot \left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta, \quad z \in U,$$

where  $q(z) = \frac{1-\delta}{nz^{\frac{1-\delta}{n}}} \int_0^z h(t)t^{\frac{1-\delta}{n}-1} dt$ . The function  $q$  is the best subordinant.

**Proof** Let  $p(z) = \frac{RD_{\lambda,\alpha}^{m+1}f(z)}{z} \cdot \left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta$ . Differentiating, we obtain  $\left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta \frac{RD_{\lambda,\alpha}^{m+1}f(z)}{1-\delta} \left(\frac{(RD_{\lambda,\alpha}^{m+1}f(z))'}{RD_{\lambda,\alpha}^{m+1}f(z)} - \delta \frac{(RD_{\lambda,\alpha}^m f(z))'}{RD_{\lambda,\alpha}^m f(z)}\right) = p(z) + \frac{1}{1-\delta}zp'(z)$ ,  $z \in U$ .

Using the notation in (16), the differential superordination becomes  $h(z) = q(z) + \frac{z}{1-\delta}q'(z) \prec p(z) + \frac{1}{1-\delta}zp'(z)$ . By using Lemma 1.10, we have  $q(z) \prec p(z)$ ,  $z \in U$ , i.e.  $q(z) = \frac{1-\delta}{nz^{\frac{1-\delta}{n}}} \int_0^z h(t)t^{\frac{1-\delta}{n}-1} dt \prec \frac{RD_{\lambda,\alpha}^{m+1}f(z)}{z} \cdot \left(\frac{z}{RD_{\lambda,\alpha}^m f(z)}\right)^\delta$ ,  $z \in U$ , and  $q$  is the best subordinant.

### 3 Open Problem

The definitions, theorems and corollaries we established in this paper can be extended by using the notion of strong superordination. One can use the operator from Definition 1.5 and the same technique to prove earlier results and to obtain a new set of results.

## References

- [1] A. Alb Lupaş, *On special differential subordinations using Sălăgean and Ruscheweyh operators*, Mathematical Inequalities and Applications, Volume 12, Issue 4, 2009, 781-790.
- [2] A. Alb Lupaş, *On a certain subclass of analytic functions defined by Salagean and Ruscheweyh operators*, Journal of Mathematics and Applications, No. 31, 2009, 67-76.
- [3] A. Alb Lupaş, *On special differential subordinations using a generalized Sălăgean operator and Ruscheweyh derivative*, Journal of Computational Analysis and Applications, Vol. 13, No.1, 2011, 98-107.
- [4] A. Alb Lupaş, *On a certain subclass of analytic functions defined by a generalized Sălăgean operator and Ruscheweyh derivative*, Carpathian Journal of Mathematics, 28 (2012), No. 2, 183-190.
- [5] A. Alb Lupaş, D. Breaz, *On special differential superordinations using Sălăgean and Ruscheweyh operators*, Geometric Function Theory and Applications' 2010 (Proc. of International Symposium, Sofia, 27-31 August 2010), 98-103.
- [6] A. Alb Lupaş, *On special differential superordinations using a generalized Sălăgean operator and Ruscheweyh derivative*, Computers and Mathematics with Applications 61, 2011, 1048-1058, doi:10.1016/j.camwa.2010.12.055.
- [7] A. Alb Lupaş, *Certain special differential superordinations using a generalized Sălăgean operator and Ruscheweyh derivative*, Analele Universitatii Oradea, Fasc. Matematica, Tom XVIII, 2011, 167-178.
- [8] D.A. Alb Lupaş, *Subordinations and Superordinations*, Lap Lambert Academic Publishing, 2011.
- [9] F.M. Al-Oboudi, *On univalent functions defined by a generalized Sălăgean operator*, Ind. J. Math. Math. Sci., 27 (2004), 1429-1436.
- [10] L. Andrei, *Some differential subordinations using Ruscheweyh derivative and generalized Sălăgean operator*, Advances in Applied Mathematical Analysis, to appear.
- [11] L. Andrei, *Differential subordinations using Ruscheweyh derivative and generalized Sălăgean operator*, Advances in Difference Equation, 2013, 2013:252, DOI: 10.1186/1687-1847-2013-252.

- [12] L. Andrei, V. Ionescu, *Some differential superordinations using Ruscheweyh derivative and generalized Sălăgean operator*, Journal of Computational Analysis and Applications, to appear.
- [13] S.S. Miller, P.T. Mocanu, *Subordinants of Differential Superordinations*, Complex Variables, vol. 48, no. 10, 815-826, October, 2003.
- [14] St. Ruscheweyh, *New criteria for univalent functions*, Proc. Amer. Math. Soc., 49(1975), 109-115.
- [15] G. St. Sălăgean, *Subclasses of univalent functions*, Lecture Notes in Math., Springer Verlag, Berlin, 1013(1983), 362-372.